
7.2 Solving Exponential Equations and Inequalities 
Honors Algebra 2 

1. Solve the following equations: 
 

a. 2x = 83  
 
 
 
 
 
 
 

b. 92x−1 = 36x  
 
 
 
 
 
 
 
 
 

c. 442n−1 = 6  
 
 
 
 
 
 
 
 

d. 2555x = 1 x+2  
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2. An investment account pays 4.2% annual interest compounded monthly.  If $2500 is 
invested in this account, what will be the balance after 15 years? 
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3. Find the account balance after 20 years if $100 is placed in an account that pays 
1.2% interest compounded twice a month. 
 
 
 
 
 
 
 
 

4. A certificate of deposit (CD) pays 2.25% annual interest compounded biweekly.  If 
you deposit $500 into this CD, what will the balance be after 6 years? 
 


